


Ligature Resistant Solid Surface Lavatory            #ET720
Installation, Maintenance, & Operation Instructions

706.705.1500 b e s a f e p r o . c o m

TOOLS & SUPPLIES
WAIVER & DISCLAIMER

This waiver disclaimer is attached to and made part 
of the written contract to purchase these products 
for use in psychiatric and correctional facilities. Such 
fixtures and products are purchased to reduce the 
risk of self imposed death or injury to patients or 
clients in such facilities, but are NOT represented as 
able to prevent such death or injury.

Behavioral Safety Products, LLC (”BSP”) as the seller 
of these products have not, and will not represent or 
warrent to the purchaser shown in this contract 
(”Purchaser”) that its fixtures and products will 
prevent death or injury in any case whatsoever.

BSP makes no expressed or implied warranty with 
respect to the preventative quality of its products, 
but merely represents that the use of such products 
tends to reduce deaths and injuries by patients or 
clients who are subject to meticulous screening 
processes and diligent supervision on the part of 
facility housing them.

Purchaser acknowledges the foregoing disclaimer 
and waives any and all claims against BSP and as to 
expressed or implied warranties of fitness for any 
purpose whatsoever.

INSTRUCTIONS FOR MODELS

NEED HELP?

For additional assistance or service please contact:

Behavioral Safety Products
29A North Main Street, Suite 3
Watkkinsville, GA 30677

706.705.1500

www.besafepro.com

Level 2ft or longer

Pencil/marker

Dry wall cutter

Cordless drill

Small crescent 
wrench

3/8” ratchet with 
9/16” deepwell 
socket



Ligature Resistant Solid Surface Lavatory            #ET720
Installation, Maintenance, & Operation Instructions

706.705.1500 b e s a f e p r o . c o m

STEP BY STEP INSTRUCTIONS

The BSP sink is designed for maximum strength 
and stability. The extra heavy duty mounting 
plate is designed to fasten directly onto blocking 
in the wall so there is no “guessing” as to whether 
you are anchoring into the blocking properly. 

 The optimum ADA install height for the rim of 
the sink is usually 34” however it’s always good 
to check your local code.  (If the previous sink 
was at a lower position then you may need to 
raise the waste and supply to the ADA height) 
If you determine that 34” is the height you 
want to use, center the backing plate (the one 
with studs)  over the waste. Set the height of 
the top of the bracket at 34-1/2” and mark the 
wall around the perimeter with a pencil or 
marker.

Cut and remove gypsum board from the 
marked area down to the studs so the plate 
can fit against the studs.

Install blocking as necessary between studs. 
Full 2x6  fire-treated wood is recommended. 
Heavy sheet metal blocking may be used, 
however be sure to use appropriate fasteners.

Hold the backing plate in place being sure it is 
level and install with screws provided or appropriate 
screws for your blocking. We recommend at least 
four screws on the top line and two on the 
bottom.

Hold the  sink over the exposed 3/8” studs, place 
cover plate over the sink back , install flat washers, 
lock washers and nuts. (Caution –do not over 
tighten 3/8” nuts, only compress lock washers-Over 
tightening could pull the blocking out of the wall)

Install drain/trap/faucet and related plumbing 
components.
   
Install the trap cover to the bottom of the sink 
using the small machine screws.

Mark the holes through the trap cover on the 
wall. Remove the trap cover and install the 
screw- in wall anchors in the drywall.

Reinstall the trap cover with the screws in the 
sink and then the screws in the wall.
     
The install is complete. We also recommend using 
a pick free caulk to caulk the sink to the wall.

1

2

3

4

5

6

7

8

9



Ligature Resistant Solid Surface Lavatory            #ET720
Installation, Maintenance, & Operation Instructions

706.705.1500 b e s a f e p r o . c o m

SINK & DIMENSIONS



Ligature Resistant Solid Surface Lavatory            #ET720
Installation, Maintenance, & Operation Instructions

706.705.1500 b e s a f e p r o . c o m

TRAP COVER & DIMENSIONS



Ligature Resistant Solid Surface Lavatory            #ET720
Installation, Maintenance, & Operation Instructions
Wall Rough-In Details

706.705.1500 b e s a f e p r o . c o m

 3
4

1 2
" 

 15" 

 6
" 

 8" 

D
RA

IN
 R

O
UG

H-
IN

24
"

W
A

TE
R 

RO
UG

H
-IN

26
" LC

-+

+ -

+ -

MARK BRACKET 
OUTLINE, REMOVE
DRYWALL BEHIND 
BRACKET

1.

FLOOR

INSTALL 2X6
BLOCKING 
BETWEEN STUDS

FASTEN BRACKET
TO BLOCKING

2.

3.

 

H C

ADA BSP SINK ROUGH-IN
DRAIN, SUPPLY, & BRACKET

WALL
BRACKET



Ligature Resistant Solid Surface Lavatory            #ET720
Installation, Maintenance, & Operation Instructions
Wall Bracket Rough-In Details

706.705.1500 b e s a f e p r o . c o m

 1
5 8

" 

LC

DECK OF SINK TOP
AT FAUCET

1/8" PLATE OVER 
SINK BACK

BSP SINK WALL PLATE
MOUNT DETAILS

 
34

 1
/2

" F
LO

O
R 

TO
 T

O
P 

O
F 

W
A

LL
 P

LA
TE

SI
N

K 
BA

C
K

3/8" x 2" STUDS

7/16" HOLES 
IN SINK BACK

FLAT WASHER, 
LOCK WASHER,

& NUT

 
   GYPSUM BOARD

REMOVED FOR
WALL PLATE
6 1/4" x 15 1/4"

1/4" WALL PLATE
FASTENED TO 

STUDS/BLOCKING

5/8" GYPSUM
WALL BOARD

ST
UD

/B
LO

C
KI

N
G

 

 



Ligature Resistant Solid Surface Lavatory            #ET720
Installation, Maintenance, & Operation Instructions
Fastener Kit Breakdown (Included)

706.705.1500 b e s a f e p r o . c o m

10 #10 - 12x2” phillips       Fasten backing plate
           to blocking/studs

5  3/8” flat washer       Over cover plate

5 3/8” lock washer       Over flat washer

5 3/8” nuts         Over lock washer
           CAUTION: Do not over tighten,
            flatten lock washer ONLY!

6 #8 - 32x1/2” ss        Trap cover to sink
 button head with
 security bit

6 Ez dry wall anchors      Insert into drywall to
           hold trap cover

6 #8x1” button        Trap cover to drywall
 head with
 security bit



Ligature Resistant Solid Surface Lavatory            #ET720
Installation, Maintenance, & Operation Instructions

706.705.1500 b e s a f e p r o . c o m

INCLUDED ITEMS WITH PURCHASE

Sink

Trap Cover

Back Plate Bracket with  
Welded Studs & Cover Plate

Fasteners

(2) Security - Bits

High Flow Ligature Resistant 
Drain/Tail Piece

1.

2.

3.

4.

5.

6.




